The ideas of Enlightenment philosophers were based on (1) efforts to achieve salvation (2) faith in human reason (3) traditional practices (4) the inevitability of poverty

Baron de Montesquieu believed that a separation of powers would (1) prevent tyranny by acting as a check on power (2) restore authority to the Roman Catholic Church (3) increase corruption of political authority (4) decrease the power of the middle class

The idea that all people are born with the natural rights of life, liberty, and property is most directly associated with the writings of (1) Baron de Montesquieu (2) Thomas Hobbes (3) Jacques-Bénigne Bossuet (4) John Locke

Base your answer to the question on the passage below and on your knowledge of social studies. 

Diligent reader, in this work, which has just been created and published, you have the motions of the fixed stars and planets, as these motions have been reconstituted [reconstructed] on the basis of ancient as well as recent observations, and have moreover been embellished by new and marvelous hypotheses. You also have most convenient tables, from which you will be able to compute those motions with the utmost ease for any time whatever. Therefore buy, read, and enjoy [this work]. Let no one untrained in geometry enter here. — Nicholas Copernicus of Toruń, Six Books on the Revolutions of the Heavenly Spheres 18 
In this passage, Copernicus states that he accomplished his work by 

(1) excluding the teachings of ancient societies 

(2) combining old and new observations 

(3) questioning the principles of the scientific method 

(4) denying the importance of geometry 

The heliocentric model of the universe developed by Copernicus and Galileo was considered heresy during their lives because it

(1) linked astronomy to the teachings of Muhammad 

(2) supported the world view of the ancient Greeks 

(3) challenged the secular power of absolute monarchs 

(4) conflicted with the official doctrine of the Roman Catholic Church

